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1. The Reserve Bank of India was established 1. IR Rod S & e g‘é Ty :
in year :

A 1918%

(A) 1918

B 193 B)  1935%

C) 1948 (C) 19487

D) None of the above D) SR § § 38 ot
2. The largest commercial bank is : 2 g 9T AR S5 3

(A) State Bank of India A e ¥ o e

(B) Punjab National Bank (B) U I S

(®) Regional Rural Bank ©) g o S5

D) None of the above D) SR § § 38 ot
3. What is the value of money? 3 Ll 3 oo I aE &

(A) Purchasing power of money A e FH BT I

(B)  Demand for money B) @ T

(®) Supply for money (9] qar %l Eﬁ

D) None of the above D) SWe & | B o

4. The value of money is inversely related with 4. e T g P 90T 9 gl wu 9

quantity of money. This is the theory of : g 8, 98 s B
(A) Income expenditure theory of (A) T B - B
money

(B) Quantity theory of money (B) el arEreT T

(C)  Both (A) and (B) C) 3 (A) &R (B)

(D) None of the above D) SR ¥ § 5 T8
5. The functions of Reserve Bank are : 5 Rotd % & &9 ©

(A) Credit control (A) g e

(B) Note issue (B) e FrfE

(®) Lender of the last resort ©) T uEmMT

D) All of the above D) SR g4
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10.

The Reserve Bank of India was nationalized

(A) 1949
B) 1945
(C) 1948

(D) None of the above

The objectives of monetary policy are :

(A) Price stability

(B) Economic stability

(®) Employment generation
(D) All of the above

Credit Creation is done by :

(A) Central Bank

(B) Commercial Bank

(@) Agricultural Bank

(D) None of the above
What is the meaning of inflation?
(A) Increase in price level
(B) Decrease in price level
(®) Stability in price level
D) None of the above
Who suffers from inflation?

(A) Consumers

(B) Laborers

(®) Salary earners

(D) All of the above

KNP/ECO-0167-A/6325
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1.

12.

13.

14.

19.
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What is the meaning of deflation?

A Decrease in prices of goods

(A)

(B) Increase in prices of goods
C) Both (A) and (B)

D) None of the above

We study the following in public finance :
(A
(B
C
D) All of the above

) Public revenue
) Public expenditure
) Public debt

What happens in the situation of stagflation ?
(A) Increase in price level
(B) Increase in unemployment rate

€ Stagnation in economic

development
D) All of the above

The relation between value of money and

price level is :
(A) Direct
(B) Inverse

€ Constant
D) None of the above

Phillips curve shows which relation between
unemployment and inflation :

(A) Direct

(B) Inverse

C) Both (A) and (B)
D) None of the above

(5)
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16.

17.

18.

19.

20.

The theory of maximum social advantage is ~ 16.

propagated by :
(A) Dalton

(B) Keynes
(®) Marshall

(D) None of the above

Fisher's equation is : 17.
A MV=PT
®) -
PT
© Mm=yT

(D) None of the above

‘Money is what money does.” Whose  18.

statement is it?
A
B
C

(A) Crowther

(B) Hartley Withers
(@) Keynes

(

D) None of the above

Who formulates the monetary policy ? 19.

A) Reserve Bank
B) State Bank
)

C Central Government

(
(
(
(

D) None of the above

What causes increasing public expenditure  20.

in India?

(A) Increasing defense expenditure
(B) Economic planning

(®) Establishment of welfare state
D) All of the above

KNP/ECO-0167-A/6325 (6)
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22.

23.

24.

25.
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Which statement is true about Indirect Taxes?
(A) Its burden can be shifted

(B) It is imposed on goods and
services

(C)  Both (A)and (B)

D) None of the above

Which of the following is not direct tax?
A
B
C
D) Wealth Tax

(A) Income Tax

(B) Corporate Tax

€ Service Tax

(

What is not true about tax?

(A) It is a compulsory contribution
(B) It is a legal obligation

) The taxpayer always gets a direct
benefit in return

D) The revenue collected from tax is
used in public interest

The sources of non-tax revenues are :

(A) Income from public sector units
(B) Interest receipts

€ Administrative income

(

D) All of the above

What are the objectives of fiscal policy in
an underdeveloped economy?

(A) Economic stability

(B) Economic development

C) Reducing economic inequalities
(D) All of the above

(7)
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27.

28.

29.

30.
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When were big 14 scheduled commercial
banks in India nationalized?

(A) 1955
(B) 1949
(C) 2000
D) 1969

Who is the apex body of Indian Banking
System?

(A) State Bank

(B) Unit Trust of India

(®) Reserve Bank of India

D) All of the above

Who regulates the money supply?

(A) Government of India

(B) Reserve Bank of India

(®) State Bank of India

(D) None of the above

The functions of commercial banks are :
(A) Accept deposits from customers
(B) Provide loans to customers

(®) Issue currency notes

D) Both (A) and (B)

Main determinants of taxable capacities are:
(A) Size of population

(B) Distribution of wealth

(®) Good tax system

(D) All of the above

(8)
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32.

33.
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35.
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Progressive tax is a tax in which :

(A) Rate of tax increases as the base
income increases

(B) Rate of tax decreases as the base
income increases

(9] Rate of tax is proportional
(D) None of the above
Instruments of Fiscal Policy are :

) Tax Policy

) Public Expenditure Policy
) Public Debt Policy

D) All of the above

) Prime Minister
B) Finance Minister
) President
D) None of the above

Which tax is imposed by Central
Government?

(A) Custom Duty

(B) Income Tax

(@) Both (A) and (B)

D) None of the above

Federal Finance means :

(A) Income-Expenditure of Central
Government

(B) Income-Expenditure of State
Government

(®) Financial Relations of Central and
State Government

D) None of the above

(9)
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38.

39.

40.
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One Rupee note is issued by :

(A) Finance Ministry

(B) Reserve Bank of India
(®) State Government

D) None of the above

In inflationary condition, what should be the
fiscal policy ?

A
B
C

(A) Expansionary

(B) Controlled

(@) Both (A) and (B)
D) None of the above

Who distributes financial resources between
centre and states?

A)  NITlAayog
B

)
) Finance Commission
C)

(
(
( Planning Commission
D) None of the above

Which of the following taxes are merged in
Goods and Services Tax?

(A) Service Tax

(B) Sales Tax

(®) Production Tax
(D) All of the above

Major sources of income of State
Government is :

(A) Tax on Agriculture Income
(B) State Excise Duty

(®) Stamp Duty

D) All of the above
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42.

43.

44,

45.
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The difference between
expenditure and revenue receipts is :
(A) Primary Deficit

(B) Budget Deficit

€ Revenue Deficit

D) None of the above

Taxes which levied in the same ratio on all

revenue

income groups is known as :

(A) Proportional Tax

(B) Progressive Tax

C) Regressive Tax

D) Degressive Tax

Who propounded the law of Increasing State

Activities?

(A) Musgrave

(B) Adolph Wagner

) Dalton

D) None of the above

According to Peacock-Wiseman theory :

(A) Public expenditure decisions are
taken on political ground

(B) Government takes into account the
reaction of voters at the time of
taxation

€ There is no steady growth in public
expenditure

(D) All of the above

What is true in the context of effect of

taxation?

(A) Ability to work gets adverse

(B) Ability to save gets adverse

) Capacity of consumption gets
adverse

(D) All of the above
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46.

47.

48.

49.

50.

The main factor which affects shifting of  46.

taxation is :

(A) Elasticity of demand and supply

(B) Market condition

(®) Availability of substitute goods

(D) All of the above

Method of public debt redemption is : 47.
(A) Loan repudiation

(B) Debt conversion

(®) Refunding of debt

D) All of the above

The merits of good tax system are : 48.
(A) Elasticity

(B) Economical

(®) Just and equitable

(D) All of the above

Narasimham Committee is related to : 49.
(A) Improvement in Taxation

(B) Improvement in Banking System

(9] Improvement in Agriculture

(D) None of the above

Which of the following is not the quantitative ~ 50.

method of credit control?

(A) Bank rate

(B) Moral persuasion

(®) Open market operations

(D) Cash reserve ratio

KNP/ECO-0167-A/6325
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51. What are the problems of Barter trade
system?

(A) Lack of double coincidence
(B) Lack of division of goods
€ Lack in measure of value
D) All of the above

52. Indian monetary system is based on :
(A) Paper standard
(B) Metallic standard
C) Gold standard
D)

None of the above
53. The functions of commercial banks are :
(A) Accept deposits
(B) Credit creation
) Agency related works
(D) All of the above

54. Which of the following is the feature of
Money?

(A) General acceptability
(B) Homogeneous units
C) Liquid asset
D) All of the above
55. Credit money is :
(A) Cheque and draft
(B) Promissory note
C) Bill of exchange
D) All of the above

KNP/ECO-0167-A/6325 (13)
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58.

59.

60.
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Which type of deposits give highest interest
rate?

(A) Fixed deposits
(B) Saving deposits
C) Current deposits
D) None of the above

The ratio of total deposits that a commercial
bank has to keep with the Reserve Bank is
called :

(A) Statutory Liquidity Ratio
(B) Cash Reserve Ratio

€ Bank Rate

D) None of the above

The Budget of India is mostly :

(A) Surplus

(B)  Deficit

C) Balanced

D) None of the above

The period of financial year in India is :
(A) 1 April to 31 March

(B) 1 January to 31 December

€ 1 March to 28 February

D) None of the above

The difference between total revenue
receipts and revenue expenditure is called :

(A) Revenue deficit
(B) Budget deficit
€ Primary deficit
D) Fiscal deficit
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64.

65.
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Which of the following is not near money?
(A) Bonds

(B) Cheque and draft

(®) Shares

D) Paper currency

Selective credit control methods are :

(A) Moral Persuasion

(B) Credit Rationing

(®) Direct Action

D) All of the above

The supply of public goods is met by :
(A) Private Budget

(B) Public Budget

(®) Public Institutions

D) None of the above

The feature of private goods is :

(A) Its supply is met by market system
(B) There is rivalry among them

(®) It has the feature of exclusion

D) All of the above

The point of maximum social benéefit is
where marginal utility and marginal sacrifice
will be equal. Whose theory is it ?

(A) Dalton
(B) Hicks
(®) Musgrave

D) None of the above
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67.

68.

69.

70.
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Who gave the growth oriented theory of
public expenditure?

(A) Rostow
(B)

€ Both (A) and (B)
(D) None of the above

Musgrave

Who gave the theory of functional finance?

(A) A.P. Lerner
(B) Dalton

(®) Pigou

D) Keynes

What are the measures to increase
availability of money in the economy?

A
B
C
D) All of the above

(A) Decrease in bank rate

(B) Decrease in cash reserve ratio
(®) Decrease in statutory liquidity ratio
(

What are the measures the government
should take in inflation?

(A) Increase in Tax rate

(B) Increase in Interest rate
(®) Forced saving

(

D) All of the above

Who profits in the condition of inflation?
(A) Debtor

(B) Creditor

(®) Consumers

D) Salary earners
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Who gave the theory of inflationary gap?

(A) Keynes
(B) Marshall
(0] Pigou

D) Adam Smith

The causes of cost-pull inflation are :
A
B
C
D) All of the above

) Increase in wage rate
) Shortage of raw material
) Increase in production cost

(
(
(
(

Which of the following is not a measure to
control inflation?

A
B
C

(A) Increase in taxation

(B) Restriction on speculation
€ Promotion of savings

D) Decrease in interest rate
Which statement is not correct?

(A) The objective of public finance is
social welfare

(B) It has confidentiality
C) It has elasticity
D) None of the above

Who gave the canon of productivity theory

of taxation?

(A) Pigou

(B) Bastable

€ Keynes

D) None of the above
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Who wrote the book "Wealth of Nations'?
(A) Adam Smith

(B) Marshall

(®) Pigou

(D) None of the above

The examples of merits goods are :
(A) Education and Health

(B) Residential facilities at low cost

(®) Food grains through rationing
system

D) All of the above
What are the features of public goods?
(A) Non-rivalry

(B) It does not have the feature of
exclusion

(®) Supplied by budget
D) All of the above

Which of the following statement is not
correct?

(A) Public goods are supplied by
market system

(B) Private goods have rivalry
(@) Both (A) and (B)
(©)  Only(A)

Which of the following is the feature of good
money?

(A)  Divisibility

(B) General Acceptability
(9] Portability

D) All of the above
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85.
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Bad money drives good money out of
circulation. This is the law of :

(A
(B
(o
(

D) None of the above

) Gresham
) Crowther
) Hicks

"Money is a good servant but bad master."
Who gave this statement?

(A) Robertson
(B)  Mill

€ Pigou

D) Marshall

Inequality in income distribution can be
reduced by :

(A) Grants

(B) Subsidy

C) Improvement in tax structure
(D) All of the above

Taxation according to price of goods is
called :

A
B
C

D) None of the above

) Single Tax
) Double Tax
) Ad Valorem Tax

(
(
(
(

Where is the Head Office of Reserve Bank
of India?

(A)  New Delhi
(B) Mumbai
€ Chennai
D) Kolkata
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Recommendation of Finance Commission
are effective for :

) 5 Years
B) 4 Years
) 3 Years

D) None of the above

) Self tax pay
) Tax shifted on other person
) Avoid tax pay

D) None of the above

(A) Decreases
(B) Increases
(@) Fixed

(

D) None of the above

Which of the following is not the instrument
of fiscal policy?

A Taxation policy
B

)
) Public expenditure
C)

(
(
( Public debt

D) Money supply

The primary functions of money are :

(A) Medium of exchange
B) Standard of value

(®) Both (A) and (B)

(B)  Only(B)
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Which of the following are called open
market operations?

A
B
C
D) All of the above

) Provide loans
) Selling and purchasing of securities
) Deposit money

(
(
(
(

Which of the following is most liquid form of
money?

A M
B M,
© M
O M,

Who wrote the book 'An Outline of Money' ?
A
B
C
D) Marshall

) Keynes
) Robertson
) Crowther

(
(
(
(

"Money is the pivot around which the whole
economic science clusters." This statement
is given by :

(A) Marshall

(B) Pigou

C) Keynes

(D)  Adam Smith

In which system, tax rate decreases with
increase in income?

(A) Regressive
(B) Progressive
€ Proportional
D) Degressive
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96. Which of the following is the broad definition ~ 96.

of money?
A M
B M
© M,
O M,
97. What is the meaning of money supply? 97.

(A) Bank deposits
(B) Liquid money with public
(9] Savings of post office
D) All of the above
98. Who determines the bank rate? 98.
(A) Reserve Bank of India
(B) Commercial Bank
(®) Government of India
(D) None of the above

99. Which of the following is not the function of 99
Reserve Bank?

(A) Issue of currency
(B) Formulation of monetary policy
(®) Give direct loan to public
(D) Credit control
100.  In which of the following banks do not give ~ 100.
interest?
(A) Saving account
(B) Current account
(®) Recurring account
(D) Fixed deposits

KNP/ECO-0167-A/6325 (22)
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4. Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

11. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.
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